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1. Find	the	set	of	points	satisfying	the	equation(−14x−6y−68) 0=

(i) , , , ,( , )(−2) (− 20
3 ) ( , )(−1) (−9) ( , )1 (− 37

3 ) ( , )1 (− 41
3 ) ( , )2 (−16)

(ii) , , , ,( , )(−2) (− 20
3 ) ( , )(−1) (−9) (0, )(− 34

3 ) (0, )(− 38
3 ) ( , )2 (−16)

(iii) , , , ,( , )(−2) (− 20
3 ) ( , )(−1) (−9) ( , )(−2) (− 40

3 ) ( , )1 (− 41
3 ) ( , )2 (−16)

(iv) , , , ,( , )(−2) (− 20
3 ) ( , )(−1) (−9) (0, )(− 34

3 ) ( , )1 (− 41
3 ) ( , )2 (−16)

(v) , , , ,( , )(−2) (− 20
3 ) ( , )(−1) (−9) (0, )(− 34

3 ) ( , )1 (− 41
3 ) ( , )4 (−14)

2. Find	the	set	of	points	satisfying	the	equation y (−x−3)=

(i) , , ,( , )(−2) (−1) ( , )(−1) (−2) ( , )1 (−4) ( , )2 (−5) (ii) , , , ,( , )(−2) (−1) ( , )(−1) (−2) (0, )(−3) ( , )1 (−4) ( , )4 (−3)

(iii) , , ,( , )(−2) (−1) ( , )(−1) (−2) (0, )(−3) ( , )2 (−5)

(iv) , , , ,( , )(−2) (−1) ( , )(−1) (−2) ( , )(−2) (−5) ( , )1 (−4) ( , )2 (−5)

(v) , , , ,( , )(−2) (−1) ( , )(−1) (−2) (0, )(−3) ( , )1 (−4) ( , )2 (−5)

3. Find	the	set	of	points	satisfying	the	equation x (1114
y−13

14)=

(i) , , , ,( , )(−2) (− 15
11 ) ( , )(−1) (− 1

11 ) (0, )13
11 ( , )1 27

11 ( , )2 41
11

(ii) , , , ,( , )(−2) (− 15
11 ) ( , )(−1) (− 1

11 ) ( , )1 2
11 ( , )1 27

11 ( , )2 41
11

(iii) , , , ,( , )(−2) (− 15
11 ) ( , )(−1) (− 1

11 ) (0, )13
11 ( , )1 27

11 ( , )4 63
11

(iv) , , , ,( , )(−2) (− 15
11 ) ( , )(−1) (− 1

11 ) (0, )13
11 (0, )38

11 ( , )2 41
11

(v) , , , ,( , )(−2) (− 15
11 ) ( , )(−1) (− 1

11 ) ( , )(−2) (− 9
11 ) ( , )1 27

11 ( , )2 41
11



4. Find	the	set	of	points	satisfying	the	equation y 13
2
x=

(i) , , , ,( , )(−2) (−13) ( , )(−1) (− 13
2 ) (0,0) (0, )15

2 ( , )2 13 (ii) , , , ,( , )(−2) (−13) ( , )(−1) (− 13
2 ) (0,0) ( , )1 13

2 ( , )4 15

(iii) , , , ,( , )(−2) (−13) ( , )(−1) (− 13
2 ) (0,0) ( , )1 13

2 ( , )2 13

(iv) , , , ,( , )(−2) (−13) ( , )(−1) (− 13
2 ) ( , )1 (−1) ( , )1 13

2 ( , )2 13

(v) , , , ,( , )(−2) (−13) ( , )(−1) (− 13
2 ) ( , )(−2) (−2) ( , )1 13

2 ( , )2 13

5. Find	the	set	of	points	satisfying	the	equation(24x+9y−8) 0=

(i) , , , ,( , )(−2) 56
9 ( , )(−1) 32

9 (0, )8
9 (0, )(− 7

9 ) ( , )2 (− 40
9 ) (ii) , , , ,( , )(−2) 56

9 ( , )(−1) 32
9 (0, )8

9 ( , )1 (− 16
9 ) ( , )2 (− 40

9 )

(iii) , , , ,( , )(−2) 56
9 ( , )(−1) 32

9 ( , )1 (− 1
9 ) ( , )1 (− 16

9 ) ( , )2 (− 40
9 )

(iv) , , , ,( , )(−2) 56
9 ( , )(−1) 32

9 (0, )8
9 ( , )1 (− 16

9 ) ( , )4 (− 22
9 )

(v) , , , ,( , )(−2) 56
9 ( , )(−1) 32

9 ( , )(−2) (− 10
9 ) ( , )1 (− 16

9 ) ( , )2 (− 40
9 )

6. Find	the	set	of	points	satisfying	the	equation y (−6)=

(i) , , , ,( , )(−2) (−6) ( , )(−1) (−6) ( , )(−2) (−8) ( , )1 (−6) ( , )2 (−6)

(ii) , , , ,( , )(−2) (−6) ( , )(−1) (−6) ( , )1 (−7) ( , )1 (−6) ( , )2 (−6)

(iii) , , , ,( , )(−2) (−6) ( , )(−1) (−6) (0, )(−6) ( , )1 (−6) ( , )4 (−4)

(iv) , , , ,( , )(−2) (−6) ( , )(−1) (−6) (0, )(−6) ( , )1 (−6) ( , )2 (−6)

(v) , , , ,( , )(−2) (−6) ( , )(−1) (−6) (0, )(−6) (0, )(−5) ( , )2 (−6)

7. Find	the	set	of	points	satisfying	the	equation x (−7)=

(i) , , , ,( , )(−7) (−2) ( , )(−7) (−1) ( ,0)(−7) ( , )(−8) 2 ( , )(−7) 2

(ii) , , , ,( , )(−7) (−2) ( , )(−7) (−1) ( ,0)(−7) ( , )(−7) 1 ( , )(−7) 2

(iii) , , , ,( , )(−7) (−2) ( , )(−7) (−1) ( ,0)(−7) ( , )(−7) 1 ( , )(−5) 4

(iv) , , , ,( , )(−7) (−2) ( , )(−7) (−1) ( , )(−6) (−1) ( , )(−7) 1 ( , )(−7) 2

(v) , , , ,( , )(−7) (−2) ( , )(−7) (−1) ( , )(−9) (−2) ( , )(−7) 1 ( , )(−7) 2

8. Which	of	the	following	equations	satisfy	the	given	points ?, , , ,( , )(−2) 1
3 ( , )(−1) (− 1

3 ) (0, )(−1) ( , )1 (− 5
3 ) ( , )2 (− 7

3 )

(i) x 5= (ii) y 7= (iii) y (−2
3
x+31

3 )= (iv) (−4x−6y−6) 0= (v) (6x+5y−2) 0=



9.
Which	of	the	following	equations	satisfy	the	given	points

?, , , ,( , )(−2) (− 30
11 ) ( , )(−1) (− 42

11 ) (0, )(− 54
11 ) ( , )1 (−6) ( , )2 (− 78

11 )

(i) y (−12
11

x−54
11)= (ii) x (1211

y+83
11)= (iii) x 1= (iv) y (−6)= (v) (2x+2y−1) 0=

10. Which	of	the	following	equations	satisfy	the	given	points ?, , , ,( , )(−2) 25
6 ( , )(−1) 5

2 (0, )5
6 ( , )1 (− 5

6 ) ( , )2 (− 5
2 )

(i) x (−8)= (ii) (−10x−12y+16) 0= (iii) y (−5
6
x−29

3 )= (iv) (10x+6y−5) 0= (v) x (56
y−11

2 )=

11. Which	of	the	following	equations	satisfy	the	given	points
?, , , ,( , )(−2) (−2) ( , )(−1) (−2) (0, )(−2) ( , )1 (−2) ( , )2 (−2)

(i) x (7y+21)= (ii) y (−2)= (iii) x 7= (iv) (−14x−2y−2) 0= (v) (10x+9y−6) 0=

12. Which	of	the	following	equations	satisfy	the	given	points
?, , , ,( , )(−7) (−2) ( , )(−7) (−1) ( ,0)(−7) ( , )(−7) 1 ( , )(−7) 2

(i) x (−7)= (ii) y 0= (iii) (−13x−5y+6) 0= (iv) x (135
y−7)= (v) (8x+14y−7) 0=

13. Which	of	the	displayed	lines	represent	the	equation ?(5x−5y−15) 0=

(i) line	with	pointS (ii) line	with	pointW (iii) line	with	pointU (iv) line	with	pointV (v) line	with	pointT



14. Which	of	the	displayed	lines	represent	the	equation y (−5)=

(i) line	with	pointQ (ii) line	with	pointN (iii) line	with	pointM (iv) line	with	pointP (v) line	with	pointO

15. Which	of	the	displayed	lines	represent	the	equation x (−3)=

(i) line	with	pointR (ii) line	with	pointN (iii) line	with	pointP (iv) line	with	pointO (v) line	with	pointQ



16. Which	of	the	displayed	lines	represent	the	equation y (43
x+5)=

(i) line	with	pointU (ii) line	with	pointW (iii) line	with	pointV (iv) line	with	pointX (v) line	with	pointT

17. Which	of	the	displayed	lines	represent	the	equation y x=

(i) line	with	pointX (ii) line	with	pointT (iii) line	with	pointW (iv) line	with	pointV (v) line	with	pointU



 1)	(iv)  2)	(v)  3)	(i)  4)	(iii)  5)	(ii)  6)	(iv)

 7)	(ii)  8)	(iv)  9)	(i)  10)	(iv)  11)	(ii)  12)	(i)

 13)	(i)  14)	(iii)  15)	(ii)  16)	(v)  17)	(ii)
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